Farmhouse in Gozo -Gharb



Gozo - Gharb, Gozo



€2,200,000

Reference No: 240031035-318

Total Rooms: 12

Floor Area (m²) : 920

Bathrooms: 5

Bedrooms: 5

Farmhouse - For Sale - Gozo - Gharb

Gharb - Authentic Gozitan farmhouse which has been professionally converted into a magnificent home with plenty of living space and a large outdoor area. Layout comprises of entrance onto a courtyard leading to the living quarters on the ground floor. This property boasts five bedrooms and three bathrooms all enjoying authentic features and facing beautiful countryside views. Property is complemented by a very large pool and garden with ample entertaining space. Being sold inclusive of designer furniture and ready for immediate occupation.

Features

- Kitchen/Dinette
- Entrance Hall
- Electricity Utility
- Pool
- Yard
- Deck
- Garden

Rooms

- Kitchen : 6.35 x 2.75 m (17.46 m2)
- Living : 7.1 x 6.85 m (48.64 m2)
- Single Bedroom : 5 x 2.85 m (14.25 m2)
- Single Bedroom : 2.95 x 2.85 m (8.41 m2)
- Single Bedroom : 6.15 x 3 m (18.45 m2)
- Single Bedroom : 3.65 x 2.75 m (10.04 m2)
- Single Bedroom : 3.05 x 3.65 m (11.13 m2)
- Bathroom : 3 x 2.15 m (6.45 m2)
- Bathroom Ensuite : 1.55 x 2.3 m (3.57 m2)
- Bathroom Ensuite : 2.75 x 2 m (5.5 m2)

- En Suite
- Water Utility
- Double Glazed
- Terrace
- Space For Pool
- Back Yard

- ✓ Hall : 3.65 x 1.85 m (6.75 m2)
- ✓ Shower : 2 x 2 m (4 m2)
- ✓ Shower : 2 x 2 m (4 m2)

Gallery























































Nick Portelli RE/MAX Property Centre - Victoria

M: 79221227 E: nick@remax.com.mt T: 21566824

RE/MAX Property Centre - Victoria

11, Independence Square, Gozo - Victoria, Malta